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Note : Question no. 1 is compulsory. Attempt any four

questions from questions no. 2to 7.

1. (a) Fill

in the blanks with appropriate

alternatives given in the parentheses.

@
(ii)

(iii)

(iY)
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" into rabbit.

Modern genetics originated with
(Charles Darwin’s/Gregor
Mendel’s) work.

In dihybrid crosses there are
(2 phenotypic/4 phenotypic) classes in
F, generation. .

Rh factor was discovered by
Landsteiner and Wiener when they
injected red blood cells from
(human/Rhesus monkey)

Yeast is a (haploid/diploid)
organism and has two kinds of
mating type alleles.
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(b)

(c)
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Read the following statements and write
True (T) or False (F) against each.

@)

(i)

(iii)

(iv)

Hypostatis is the interaction of
non-allelic genes in which one gene
masks the expression of the other
gene.

All organisms have a large number of
genes, their number being much more
than the number of chromosomes.

The cleaved strands of DNA are
electrovalently joined in recombinant
arrangements by enzyme polymerase.

Many of the single-celled eukaryotes
are haploid during the vegetative
stages in their life cycle.

Match the items given under column A and
column B correctly and rewrite them.

@)

(i)

(iii)

(iv)

Column A Column B
Chloroplast I. Consists of a nucleic
acid (DNA or RNA)

Histone 1I.

Bacteriophage IIL

Down Iv.

Syndrome

Nondisjunction of
chromosome 21
during meiosis

Basic proteins. are
positively charged

at neutral pH

DNA codes for
several proteins
involved in
photosynthesis



- 8.

6.

Write short notes on any four of the

following : 4x2.§ =10

(a) Sex reversal

(b) Chromosome heﬁeromorphism

(c) Uses of mutations |

(d) Geﬁetic basis of racial differences
(e) Herbicide-tolerant plants

(a) Describe as to how Mendel derived the law of

segregation.

(b) Explain how test crosses help to confirm the

law of segregation.

Describe the characteristics of extra-nuclear

genome with the help of suitable diagrams.

Explain the most accepted model for regulation

 of gene expression in eukaryotes with the help of

suitable diagram.

Discuss the various applications of genetic

engineering in agriculture and medicine.

5

10

10

10
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7. Write short accounts on any two of the
following : 5+5=10

(a) Molecular mechanism of crossing over
(b) Lytic life cycle of bacteriophages
(¢) Chemical carcinogens

(d The Ti Plasmid of Agrobacterium

tumefaciens

LSE-03 4



TA.TH.%.-03

Tagm s (.o dt.)
AT e
A=y, 2018
Sfa e
THA. 00 ¥.-03 : AT IR
9T : 2 qU SErFHTH 3HF : 50
Fe: y7G 13RF 8 17975 287 78 BFFar
o & I 5w | '
1. (as) Haswi § few T 3wy fawewl @ R sl
fgfd Afvg 1 4
() omghEsEREh 0 (9wd
- SR ) & w3 S |
G) fEwm w@woi H F, 0F #
(2 rErorgEdi/4 AgroTTREd)
aiforat 2 & |
(iii) AR TIT TR g ARX.TH. $Fel
@ (uradimE €aR) &
»mmﬁﬁm@taﬁ@vﬂwﬁm
| w1 H W |
(iv) W@*__(Wmm)
Sfig 3 el @ R ¥ T e
- gufanedt B § |

LSE-03 5 P.T.O.



(@) frafifea st = afer g v@&% F @R

(m)

LSE-03

g7 (q) W 3@aee (37) Tafew | 2

() ofEwar (gEaefem) afemedt SiAt i
et e @, ed & o gEd
i < arfireafs Y smafa w8 |

G ooft Al # o aga s e A @
Bd &, 9 @ STl de Rt i
T & ot i ad # |

Gii) diferi® togn S f faefa
a8 w e e #@
Aga-GAIoTeha: el # |

(iv) % TH-HIRER Tfihgs A e
% i HiS aeaet § e B
g1

W%M@%mﬁaaﬁﬁww@

%1 adl e Fifve w@ 372 T fafa 4
FiTH & FH G

() TR [ T a3

(3‘1.11;11. I IR.TA.T,)

i) feem I g % A

mEE 21 W#
Arfersm

Gii) SfampEst L SgEiW flea. W
R RED) T
HqTcHhd: AEAfRE
T &
(iv) S3A @& IV. ..U Th-G5ayo
~ # wifir WA % fog
FIANGT BT 2



2. frafafes § ¥ 5l o W dRm foufmt
R : 4x2—=10

(%) Tom i

(w) o formean

() * SeaRadAt % I

() Wmmﬂ@aﬁmm
(é) WThHATEN-HeE Y

3. (%) u=a I fywaem fam 6 gty fFa gwr
i 2 guiT Fifvg | 5

(@) whend e feEem fam B ogRe WA A
e PR wEEs § 2EHERT | 5

4. Tmifkea i it wEEmE A FowEE@ GiA
(<fm) & sAfiraemi #1 auia Hife | 10

5. J9g& Fom f wemar @ wfimkgsw § S
sftreafe & w&@ 7= Aied 6 s Hifvu | 10

6. F aun sy ¥ omgERE SRRIER ¥ R
o R R AR 10

LSE-03 7 P.T.O.



7. frafafes & @ Rl @ w Wl fasm
foflaw - 5+5=10

(%) < fafwma 6 snfoees frafafy
(@) Sampish w1 @@ e =6

@) T FEeE

(@) CmewiRom gHidlea~ 1 Ti <ifsis

LSE-03 8 8,000



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

